v

Copyright 2015, Aleph Objects, Inc. CC BY-SA 4.0 ‘

4X SO-M3-61I Inserts
2X FH-M3-10Z! Insert Install from this side
/Insfoll from other side

174.00 A~y
¢ —— 2X 164.190 !
° ) 124.00
120.000 -
® ————114.00 4 .
|
) ) /

. + 2X 67.670 5.50 THRU '
|
|

\ ‘ 0 0 |
3 3 2 g g ° A~
@ % i~ S 4.00 TYP
3 <r S 3 2.60 TYP 8 = o
S & 33
4X ©3.50 THRU /"Q [][][]Uﬂ \
o oS 3 3 [] “ 32.000
" 99 S © \ /
o o™ (32] N
N o~ 0O o (@]
OO . - 4
K 2 2X ¢5.50 THRU NOTES:
‘ = 1. Parts must be RoHS compliant.
2X 53.000 P4 . DETAIL D °
‘31‘3123 :E] SCALE1:2 . Material: 12AWG (.08") Aluminum
22.43— pAY Break all sharp edges prior to coating.
0

Mask all threads prior to coating.

o awoN

Part is to be powder coated with
Cardinal color C241-BK109.

DRAWN BY
SINNEMA | 3/13/15 Sinnema Design Services
MATERIAL . H
seth.sinnema@gmail.com
SEAM WELD SEE NOTES Phone: (303) 250-8218
Fax: 1-267-393-7872
4X EDGES AND UNLESS OTHERWISE SPECIFIED
GRINDSMOOTH | PMEION A SIITES, g
DECIALS  ANGIES Case, electronics enclosure
XX2.25 B
: SIZE | DWG NO. REV.
XXX+.125 63
XXXX+.050 A PP-MPQO091 IR
BREAK EDGES .005/.020
FLLET RADIUS 0057020 SCALE 1.4 | DO NOT SCALE DRAWING | SHEET 1 OF 2

A



<

Copyright 2015, Aleph Objects, Inc. CC BY-SA 4.0

2X FEX-M3 Inserts
Install from other side

1.650
47 3oo 3X ©6.00 THRU
20 ooo g | ——2X'53.000
15.650 22.50
12.096 )f 12.00
5. 778 A L1 [ 7.000
? | ! 'A( 0

S~ - 40TYP
\\ /g \\\ (

~ ’ N\

ﬂmp

\ M s e N
7/ o 2.6 TYP
cooo oo o o oo oo . | | r
S0 o S 9 S8 B8 ——"T 1
o wn— ‘Q ™ (o6} SC » < \ cC—0 ! 4
<~ ov W wn 0 O <O ™ CcC—) /
— ™ ot S ® <9 =< X ||/
% aYaov¥ PR e—
\~J’
4X ¢ 5.400 THRU Sg/EJLAE'L]E,Q 8X ©3.26 THRU
4X N\ $9.40 X 100° ' \ FOR #4 SCREW
M ¢ 2X 158.290 o —o
144.000 @
) - 2X 129.500 2X 129.710 —o~—%
® 2X 118290 —— [ 9
104.000 —— +
® ® 2% 79 500 2X 89.710 — | [~— 30.73 THRU
+ 4
0 0
° 3 3
OO0 O O
< < QSR
Q a oW o
< < ~F AN
N o~ X X X
<~ AN <
SECTION A-A
TITLE
Case, electronics enclosure
SIZE | DWG NO. REV.
A PP-MPQO091 IR
SCALE 1.4 | DONOTSCALEDRAWING SHEET  20F2



	SHEET 1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Detail View D (1 : 2)

	Sheet1
	Section View A-A
	Drawing View7
	Drawing View8
	Detail View E (1 : 2)


